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EARB R/ ST A—F X ETTIE
W& S L [km] EHEHIC & % 59
HEHIL M M =(log L +2.9)/0.6 7.8
AT — A > b Mg [Nm] log Mo = 1.17-M + 10.72 6.73E+19
E— AV I T=F a— KMy M, = (log My -9.1) /1.5 7.2
W B 5 VARTRIRL S moger [kM’] S model = =S model_seg 1116
IS e T & Ao [MPa] Ac =7/16 + (Mo /R®), R = (Soge / W 4.4
XD & D [m] D =Mg/ (1 * Smdet) 1.93
WrE e 7 VA () [°N] EHRHc S < 36.553 36.553
Wifg e 7 VR (M) [°E] R B < 138.043 138.043
£ 0[] EWEHIIC o< 33.7 33.7 33.7
iR S ] EHEEIC < 35.0 35.0 35.0
TR0 A4 [E] (3l | 90 90 90
WrE & 7L LIRS Hy [km] M AR & 2km DT TT 4 4 4
Wi 7 LS TR Hg [km] IR -5 < 15 15 15
Wi ET VR S Lmoge [km] fLye] o () OFNEICH D 31 31 62
Wi £ 7 /L8 Wingger [km] Ly E] @ () OFIEICHE D 18 18 18
W8 7 VIR S ogel_seg [KMP] S model seq = L model seq* W model_seq 558 558 1116
TS ALY PHBEE =AY b Mo INM] S pael seg D 15FITSE U THYL 3.37E+19 | 3.37E+19 | 6.73E+19
S A BT D g [M] D seg = Moseg / (42 modsl_seq) 1.93 1.93 1.93
PRI RRIE ST A—Z BS fr—2 1~8 9~12
FEH L~ A [Nm/s?] 4=2.46 + 10" (M, + 107)" 2.16E+19
& iHif S, [km?] S,=mr? r=(7n4) - {Mo /(A - R)} - B° 348.3
_ 7 |FEET 0. [MPq] 0.=Ac, =716 * Mo/ (r* * R) 14.1
f A e 7 A B Sa [km?]  [Snoder_seg F2HE U CoYHL 174.1 174.1 348.3
; SEEIT Y &8 D, [m] Da=yp * Dseg, 70 =2.0 3.87 3.87 3.87
HEE—AL N Mp [Nm] |[Mpa=x +D,"S, 2.10E+19 | 2.10E+19 | 4.20E+19
_ o | Sw [km?] Sa=Sa (203) 721X Sy =S, 116.1 116.1 232.2
7 A IS 0w [MP] Ca = 0 14.1 14.1 14.1
1 ; AT B Dy [m] Du = (71 /5% » Da £7-4% Dy = D, 4.28 4.28 4.28
A5 iR [km?] 2kmA vy a4 X 12 X 10 | 12 X 10 | 16 X 14
5 | Sa [km?] Sa2=Sa/3 E72IE 7L 58.0 58.0 116.1
7 |FEIES 0 [MPe] Ow=0a £721E (721 14.1 14.1 14.1
2 g T i Dy [m] D= (r2/%y) » Da E721% (72 L] 3.03 3.03 3.03
S A H R [km?] 2kmA v a2 A X 8 x 8 8x8 | 12 X 10
(MBS S, [km?] Sb = Smodel - Sa 383.9 383.9 767.7
| FEHIET o [MP]] o, =(Dp/Wp) * (2/Dg) 1+ =y - o 2.1 2.1 2.9
f; SEHIF Y B Dy [m] Dy =My / (1 * Sp) 1.06 1.06 1.06
HEE— AL N Moy [Nm] Moy, =Mg - Mg, 1.27E+19 | 1.27E+19 | 2.53E+19
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FARP RSN 37 A— 2 AE 7 ik

e e & L [km] FWRHC & 5 15

HUFE B M M =(logl +29)/06 6.8

HgEE—A >k My [Nm] log My=1.17-M + 10.72 4.66E+18
F—Av bl =Fa—FM, My =(logMy-9.1)/1.5 6.4

BT & 7 7L TR S el [k Sondel = L model* Wondel 288

F#IIE 1% T Ao [MPa] Ac=7/16+ (Mo/R*), R = (Smpaa / 0" 2.3

PG D [m) D=My/ (" Smad) 0.52

Wl &7 LA (i) [°N] IS T R 36.428
e <& 7 Rl (D) [°E] R - 55 < 137.970
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Prp-

BRI T A BRET 1k
WriE& & L [km] EWRHC L5 50
BRI M M =(log L +2.9) /0.6 7.7
HEE— 2 N Mo [Nm] log Mg =1.17-M + 10.72 4.88E+19
F—R U P T =F2—F M, M,, = (log Mg - 9.1) / 1.5 7.1
W8 5 7 AR TR S moger [kmM] S model = =S model seq 837.9
IS Sl T B Ao [MPa] Ao =T/16 + (Mg /R®), R = (S et / M2 4.9
W)Y & D [m] D =M/ (# * Smode) 1.86
Wifg e 7 v (M) [°N] R lc 5 < 36.364 | 36.537 | 36.645
WriE 7 VA (P)  [°E] RMRHmIC IS < 137.994 | 137.932 | 137.937
A1 0[] EWEHEIC S < 343.7 2.0 18.9
BRHA 5[] EWRTAlic IS < 30/60 30/60 30/60
TRY A A [E] (3T | 90 90 90
Wi £ 7 v LR & Hs [km] R AR L 2km DTN TT 2 2 2
Wil e 7 MRS TR Hg [km] BRIz 55 < 15 15 15
Wig €7 NV E S Lo [km] fLye)] o (1) OFIECHES 20 12 16
Wi & € 7 VI8 W oger [kmM] Ly el © () OFIEICHES 18 18 18
Wil € 7 VI S model_seg [kmz] S model_seg = L model_seg * Wmoel_seg 353.2 203.0 2817
TS AL PHEE— AL D Mgy INM] |S model seg P L5FITSE U T o 2.27E+19 | 9.89E+18 | 1.62E+19
£ AL MEEF R G D gy [m] D seg = Moseg / (42 S mdel_seq) 2.06 1.56 1.84
PARA BRI ST A—H BE 1k fr—A 1~3
BIE L~ A [Nm/s?] A =2.46x10"%(Myx107)"* 1.94E+19
. T S, [km?] S.=mr? r=(7m4) - {Mo/ (A - R)} - 301.7
7 |ERIES 0. [MPa] 6,= Ao, =716 - Mo/ (r* - R) 13.6
LA e A RS ] [S e s (I LT 127.2 73.1 101.4
; EH)F 0 £ D, [m] Ds= 7p * Deeg, 70 = 2.0 4.12 3.12 3.68
HEE— AL N Mg [Nm] |Mg=uD,* S, 1.63E+19 | 7.12E+18 | 1.16E+19
_ o |HRSa [km?] Sa=Sa+ (2/3) £721% S = Sa 127.2 73.1 101.4
7 |FRIES) 0w [MPA] O = 04 13.6 13.6 13.6
1 ; TR0 Dy [m] Da = (71 /5%) - Ds £7-13 Dy = D4 4.12 3.12 3.68
EH R A [km’] 2kmA v v oY AR 12 x10 | 8x10 | 10 X 10
o | Sa [km?] S =Sa/3 FiE L]
7 A |FEIES) 00 [MPa] on= o) Fiold (7L
2/; T F L Dy [m] Dw=(r2/35%) - Dy £721% (72 L
A5 i [km?] kM A v v 2 A R
4 | S, [km?] Sb = Smodel - Sa 226.0 129.9 180.3
2 |EWET oy [MPa] o, =(Dp/Wp) * (H2/D) 133+ 0, 1.7 1.3 1.7
ﬁ WD & Dy [m] Db =Moo/ (u * Sp) 0.90 0.68 0.80
T [HEEE— AL N Moy [Nm] Mgy = Mg - Mg, 6.35E+18 | 2.77E+18 | 4.53E+18
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BRI AT A4 RXE TR
WiERE S L [km] FWEHEIC & % 45
HuEEHAE M M =(logL +2.9)/0.6 7.6
HEE— A2k Mg [Nm] log Mo =1.17-M + 10.72 3.97E+19
F—AY hw S =Fa—FM, M, = (log M, - 9.1) / 1.5 7.0
W7 & 7 AR S moger [kM?] Sodel = S ool seg 462.9
FRAOIS 1B T i Ao [MPa] Ao = 3.1 (Fujii and Matsu'ura, 2000) 3.1
)9 & D [m] D =Mo/ (& * Smode) 2.75
W7 L ER () [°N] RWERMIC LS < 35.986 | 36.025 | 36.070
Wi 7 VIR (M) [°E] Wi 25 < 138.164 | 138.094 | 138.063
£l 0[] IR 35 < 304.6 330.9 339.2
Bk 5[] EMEIIC 35 < 70.0 70.0 70.0
TRY A A [BE] e UbE ) 0 0 0
WifE 70 B3RS H, [km] Hi g KA & 2km DT TT 3 3 3
WifgE 7 LIRS T Hg [km] EWFHIz < 10 10 10
Wil e 7 LR E L mder [km] MLy e @ () OFIEICHES 8 6 34
Wi E 7 /LB W der [KM] TLYE] © (1) OFIEICHES 10 10 10
WifE £ 7 VIR S model_seq [km’] S nodel_seg = L model_seg * W odel_seg 735 51.4 338.0
BI AL FHBEE =AY b Mo INN] S ool seq O1.5FEITIE U T 3.47E+18 | 2.03E+18 | 3.42E+19
7 AL NPT R B D g [M] D seg = Moseq / (42 mosel_seq) 1.51 1.26 3.24
PARBYEI ST A4 FRE TR Sr—A 1~8
FJEM L~ A [Nm/s?] A =4ner+Ac, B 1.17E+19
& g S, [km?] S2=0.22*S mogel 101.8
_ 7 |ERIES oa [MPa] 02a=A0a= (Smodel / Sa) Ao 14.1
? A NS A MEESa (kM) [Smovel_seg F2IE U CopL 16.2 11.3 74.4
; T RY B D, [m] Da=7p * Deeg, 70 = 2.0 3.02 2.53 6.48
HIEE—AL KN Mo [Nm] |[Mpa=px +D,* S, 1.53E+18 | 8.92E+17 | 1.50E+19
_ 5 |EH Sa [km?] Sa =S4+ (203) £/21F Sy =S, 16.2 11.3 49.6
7 2 |EHES) o [MP] Cu = 4 14.1 14.1 14.1
1 ; 420 B Dy [m] Du = (1 /%% + Da £7-13 Dy = D 3.02 2.53 7.19
SR R [km’] 2kmA v 2P A X 4X 4 2 X4 8 X6
_ 5 |H S [km?] S =Sa/3F72IT T72L) 24.8
7 A |FRIES) 0w [MPa] =0, £120% (721 14.1
zj 440 B Dy, [m] Dw=(r2/ 3y« Dy £721% (721 5.08
FH A i [km?] 2kmA v a2 A X 6 X 4
e |HFTS, [km?] Sp = Spodel - Sa 57.3 40.1 263.6
2 |EBIET o [MPa] o, =(Dp/Wp)* (@2/D) -1+ 2% + o, 2.0 1.7 3.1
f& T2 & Dy [m] Db = Moy / (1 * Sv) 1.00 0.91 2.33
M — A2 N Moy [Nm] Mo, = Mg - Mg, 1.94E+18 | 1.14E+18 | 1.92E+19
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BRI AT A4 RXE TR
WiE R S L [km] EHIFHHIC L % 33
HuEEHAE M M =(logL +2.9)/0.6 7.4
HEE— A2k Mo [Nm] log Mo = 1.17-M + 10.72 2.17E+19
F—AY hw S =Fa—FM, M, = (log M, - 9.1) / 1.5 6.8
W7 & 7 AR S moger [kM?] Sodel = S ool seg 470.8
IS I T & Ao [MPa] Ac =716 - (Mo /R, R = (Smael / B> 5.2
SEYF XY B D [m] D =Mg/ (& * Smodel) 1.48
W7 L ER () [°N] RWERMIC LS < 36.079 | 36.056 | 36.007
Wi 7 VIR (M) [°E] Wi 25 < 138.049 | 138.106 | 138.131
AElf) 6 [F£] FFH 2 35 < 116.0 157.7 141.2
Bk 5[] EMEIIC 35 < 70.0 70.0 70.0
TRY A A [BE] e UbE ) 0 0 0
Wifg €7 v L3RRS H [km] Hi g KA & 2km DT TT 2 2 2
WifgE 7 LIRS T Hg [km] EWFHIz < 15 15 15
Wil e 7 LR E L mder [km] MLy e @ () OFIEICHES 6 6 24
Wi & 7 R Wingger [km] e o (1) OFIECHS 14 14 14
WTJ € 7V I S model_seg [KM?] S model seq = L modet seq * W model_seg 67.4 67.4 336
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LT AL NPT R B D g [M] D seg = Moseq / (42 mosel_seq) 0.78 0.78 1.75
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IR LU A [Nm/s?] A = 2.46x10"x(M ¢x10")* 1.48E+19
& T S, [km?] S.=mr? r=(7w4) - {Mo/ (A +R)} + 182.3
7 |FEIET) 0. [MPY] Ga=Aca=T7/16 - Mo/ (r? - R) 13.4
T A e A MRS, KM [Smoge e 10U U ToYEL 26.1 26.1 130.1
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2 |EBIET o [MPa] o, =(Dp/Wp)* (@2/D) -1+ 2% + o, 0.7 0.7 1.8
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BEEBFROL-ODER/NTA—45 (2016 FRIRTETIV)

ERIER ST A—F RESFIE
Wrig = & L [km] RWFHHiIC L 5 48
HTEHLEL M M =(log L +2.9) /0.6 7.6
HEE—A > N Mg [Nm] log Mo =1.17-M + 10.72 4,50E+19
F—Ar bR =Fa2—FM, M, = (log Mg -9.1) / 1.5 7.0
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BEHFTRADI-ODOER/ANT A—42 (2014 FRIRTETIL)
AR T A —2 s bk JEFE ! A 2= S
g N — biie 35.676° 1 ILidk 35.583°
17 I8 5 LT HiAdr o Bz I A i HR 137.725° E WO 137.600°
eI F R o0 2 A G 5 ) N20.6°E : N44.4°E
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HEE— A2 M, log M, =1.17M + 10.72 3.15E+19 Nm
E—AV PRI =Fa—F MM, =(logM;-9.1)/1.5 6.9
RS ) fE T ik Ao Ao =7/16"M, /R’ 3.6 MPa
q—iﬂj—d—-/{ 0 ﬁ ljmndel D model JMU /(.U S umdel) 1.3 m
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BRI EIR T A —H =21 ~ 2
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BT AR T 4 DINEN oo, = Ag,=T16My /(rR) 14,9 MPa
LA = & O i 7 A— 4 | FESN
BT HIER T — A 2 B M oo [ XTI O 1.5 FIZ L] L ThLZy [ 2.49E+19 Nm § 6.64E+18 Nm
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BRI NT A — BXOE Tk _
W <27 L LA Wt > 351 7 b
7&“‘] o f\ /”:”nT {[ul (])Am "' ’i’TII'rIVS‘Fh"] N12.8°E
ftﬁ?t {{I o “nj fo 90°
R0y RS U ) 180°
Urf.ﬁ. E7 )V ESRES R D tiJ‘ﬂLv <J¥M.i.{’ SuB 2 km
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7 T | ERh T o Oun=0, 14.8 MPa
2 a5 A 2km A v oA X 48 km’
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